WEARIE S (6.5, 6.7)
6.5
e [Find the derivative of the function.

34. g(z) = cos™ (2z — 1)

B —2 B —1
B \/1—(2x—1)2 WV — a2

Sol. ¢'(x)

43. g(x) =tan 'z + xcot 'z

- 1 -r 1l—2z 1
Sol. g’(x)—1+x2+cot x+1+x2—1+x2—|—cot x
sin x
54. y = sin H(——
y=sn (1+cosx)

cosx(1 + cosz) —sinz(—sinx)  cosx + cos®x + sin®x

Sol. o — (1—|—Co§x)2 _ (14 cosx)?
\/1_< sinz V2cosx + 2cos? x
1-+coszx 1+ cosx

"~ V2cosz + 2cos’x

e Find or evaluate the given integral.
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Sol. Let u =2, du =423dr, r=0=>u=0,z=1=u=1
3
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—d = — — = —t -1 1:_
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§ sin~!'x

1
Sol. Let u =sin"'z. du= ——dr. 2 =0=>u=0 0= =y
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6.7

e Evaluate the limit using L’Hopital’s Rule if appropriate.
sine —x
25. lim
z—0 ¥ — ™% — 21

. sinx —«x g
Sol. lim < lim
e=0et —e T —2r  2=0et 4 e —2

1
2
. 2
i sin z
31. lim ( )
z—01 — secx
. 2 0 .
. sinx 0  2sinzcosz .
Sol.lim ( ) = lim = lim(—2cos®z) = —2
=01 —secx 2—0—gecxrtanx  2—0
40. lim [(7m — 2x) sec 2]
=3
. . ooTm =2z 2 -2
Sol. lim[(m — 27z)secz] = lim ——— = lim —— =2
=7 r—5 COST r—5 —SINT
42. lim z%"*
z—0t
Sol. Let y = 2°"% Iny = sinzInx
1
Inz ¢ =
In(lim y) = lim Iny = lim sinzlnz = lim < lim z
z—0+ z—0+ z—0+ z—0t+ cscxr  z—0+t —cscx cotx
. —sin’z ¢ . —2sinzcosx
= lim — = lim g =
z—0T T COST  z—0t COST — xSINT
Hence lim y = lim "% =¢% =1
z—0* z—0+



51. lim (1 + 1)"103

T—00 X

1
Sol. Let y = (1 + 5):}:37 Iny = 23In(1 + E)

—1
e
1 1
In(lim y) = lim Iny = lim 2°In(1+-) = lim L L lim —3:6
z3 2t
: a?
= lim = 00
T—00
3(1+ -
(1+3)

T—00

1
Hence lim y = lim (1 + —)* = ™
T—>00

=
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